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Foo (@), 2() — (1, F(2(1), 2(t), u(t)
0000#¢)0p000006100000000000000

6.2.2 0000O0ODOOOOO
oogou: R — ROOO -
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Z_: U(z(t),u(®)) + v(x(T)) (6.4)
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maximize p-x(T) (6.6)
subject to x(t+ 1) —xz() = flz(t),u®), @¢=0,1,....,7-1) 6.7
g(z(),u(®)) > 0, (=0,1,...,T—1) 6.8

z(0) = g (6.9)
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z(0)

(1)
T —1) o
X = z(T) , p= p (6.10)
u(0) 0
u(1) 0
W(T 1) 0

g(x) = : (6.11)

h(x) = F(),u(1) — 2(2) + 2(1) (6.12)

F((T = 1),w(T = 1)) —2(T) + (T = 1)
00000000x0 n(T+1)+mTO00000Og : RATHDAmT L RITOh ; RAMT+HD+T _ T+
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maximize p-x  subject to g(x) >0, h(x)=0
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A >0 (6.16)
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H(x(t),u(t),§(t+1)) =& +1) - f(x(t), u(t)) (6.18)
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goo

=
l

p - x + Ag(x) + ¢h(x)

= e 1) (), u(t) — at 4 1) + (D)

© A g, u()

+ €(0)- (o —2(0) +p - 2(T)

= e 1) ), u0) — SOE 1) - (el 4 1) — a(1)

t=0
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T-1

+ ) €+ ) =€) ()

+ > €+ 1) =€) ()
+ &(0)xo —&(T)x(T) +p- x(T)
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00000000000000000000000000000000000 (6.13)-(6.17)00000
00000000000 (6.13)000(=0,1,...,7—1)0000
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et = g H 000 €+ 1)+ X0 G a(al0) ) =0 (6.19)
O
o185 = T 0,6+ D)+ X0 - G el ule) + €0+ D=0 =0, (620)
8f(LT) =p—&T) =0 (6.21)
000000000(6.16)000(¢=0,1,...,7—1)0000
A(t) >0 (6.22)
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maximize H(x(t),u(t),(t+1))

subject to g(x(t),u(t)) >0
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0000000000000000000000000000000000000000
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F(K(t),L(+))00000000000000000000000000000000

Kt+1)— K@) =1()
00000000000000D0000000D0000
Y(t) = C(t) + 1(t)

oooovu(cy)ooooooooooooooogoooo7TO0OOOOOO

gooboooobood
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2(0) = z¢ (6.30)
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